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Candidates must write the
Code on the title page of the
answer-book.
Note/ i : |

(i)  Please check that this question paper contains 15 printed pages.
ST i FX & o 59 FvT-9 H Jhaa 715 g

(ii) Please check that this question paper contains 38 questions.
ST ST 7 o fo 57 F9A-U 438 FETE

(iii) Code number given on the right hand side of the question paper should
title page of the answer-book by the candidates.

m—wﬁaz%#awaﬁaﬁrﬁqwmwaﬁWW—W%Q@—WWW/

e answer-book before |

be written on the

(iv) Please write down the Serial Number of the question in th
attempting it.
mmaﬂaﬁrﬁwwaﬂ##m'wa‘ﬂmmﬁ?@/

(v) 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the questions |

paper only and will not write any answer on the answer-book during this period.
=g g¥7-97 &I UgT & [e7¢ 15 frz 7 T o T &1 -9 T 5T Yelle # 10.15
&9 fazar s | 10.15 51 910.30 o 5% FTF FaT FIT-9 P e 3R 59 7Y I TR
& FR-gfa! 4 g I T8 [7E T |
(vi) This questions paper comprises five section - A, B, C, D and E. This question paper carries
38 questions. All questions are compulsory.
qvT-u3 ) U @e T e T T & - o, &, W, TS I §9 JYI-UF H $ 38 T
& gt 7o sifrard €1

(vii) Section A : Q. No 1 to 20 comprises questions of 1 mark each.
EeF F TV TE1 G20 7% F97 & T JAF T 1 37 F &
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MATHEMATICS

Maximum marks : 80
Time allowed : 3 hours a7ferahad 31 : 80
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(viii) Section B : Q. Né 21 to 25 comprises questions of 2 marks each.
s 7 v g2 €25 7§ & g T g2 9l HE

(ix) Section C: Q. No 26 to 31 comprises questions of 3 marks each.
s 7 7T 26 931 7§97 & TF FeId G 3 S FE

(x) Section D : Q. No 32 to 35 comprises questions of 5 marks each.
T T F 797 T 32 W35 7% §¥T § UF FoAw F¥T 5 SH] B E |

(\xi) Section E : Q. No 36 to 38 comprises questions of 4 marks each.

TGS T4 J97 G&I36 T 38 T 978 T JodFh J¥74 3Thl FT &/

(xii) There is no overall choice in the questions paper. However, an internal choice has been provided

in 2 questions of 2 mark each, 2 questions of 3 marks each, 2 questions of 5 marks each and
each question of 4 marks has an internal choice in one part.

You have to attenipt only of the choices in such questions.
- 5 G R FIE e 76 &1 A9 2 3% are we % 3 o ared ye B, 5 v arer

gl 3, 51 g 7 STaRe ooy 7T 7 &)1 4 o7} 916, Fede §97 % T 91T 1 ST ey
&1 U8 ¥l 7 HacT Ueh &1 frahed T 39T fafaa |

(xtit) In addition to this, separate instructions are given with each section and question, wherever
necessary.

g5 SHfdleK, STTTIHATTTR, Waﬂwaﬁrm%wrmﬁﬁaﬁé‘wﬁqw?/

(xiv) Use of Calculators is not permitted.

&eTgHeieX & JAIT BT STTART TE &
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SECTION - A/@E - %

Section - A y
consists of 20 questions of 1 marks each.

*

@g—mﬁzom%wmmlmw%l

1. The mid-poj .

(@) (41 _P;)mt of the line segmentjoining A (—2,8) and B(—6, — 4)is: 1
(a) (4, 122]”3 (=6, —4) % firem =) Yen-we o woA-foig
T B (4 @ @D @ (=4 -2)

2. Thedistance of the point P (-2, 3) from x-axis is : 1
@) 2 (b) -2 € 1 d) 3
ﬁgP(—z,B,)aﬁ@x_aq&{@%:

&) % (b) -2 © 1 d 3

3. A fair die is thrown once. The probability of getting an even composite number 1.
is:

@ 3 ® 5 © 3 d 1

T I 91 T IR ekl 71 | Toh |H e T W B S el |
1 1 2

@ 3 ®) 3 © 3 (d) 1

4. Aladder leaning againsta wall, makes an angle of 60° with the horizontal. If the 1
foot of the ladder is 7.5 m away from the wall, then the length of the ladderis:
(c) 3.75m (d) 15m

(a) 15V3m (b) 5V3m
o SaR & TR g el Aferst & 607 T TR ¥ 1 Af et il o e H 7.5 .

o g0 A, A A
@ 153#H O 53 . (©)

de and the mean of a data is given by 7 and 8 respectively, thenits median 1

3.75 . (d) 15

5. Ifthemo
157 | 13 23
@ 5 b 3 © =5 (d) 33
qﬁﬁﬁﬁaﬁﬁmwaﬂzmwm:mﬂw% A I SThS! I HIEA® BN
23
o ® = © 3 () 33
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6. In the following frequency distribution:

Monthly Income Range Number of families
(in¥)

Income more than 20,000 100

Income more than 23,000 85

Income more than 26,000 ‘ 69

Income more than 29,000 50

Income more than 32,000 33

Income more than 35,000 13

the number of families having income range (in ¥) 26,000 - 29,000 is :

(a) 15 (b) 17 (c) 20 (@ 19
1 IRaRa s o |
it arra T S
)

20,000 ¥ 31ftres emg 100

23,000 § 21fyer 3mg 85

26,000 § Afyer 3 69

29,000 § =Afye =19 50

32,000 ¥ 31f¥rer 31y 33

35,000 9 31fer 31 13
T M % 26,000 - 29,000 & =1 IRERT F1 G -
(a) 15 (b) 17 () 20 (d) 19

7. IfHCF of ‘p’ and 54 is 27 and LCM is 162, then what is the value of ‘p’ ?
(a) 36 (b) 45 (c) 81 (d 9
I ‘p’ 3R 54 T HCF, 27 3iIRLCM, 162 £, 1t ‘PHRAAFNE?
(a) 36 (b) 45 (c) 81 d 9
8.  Forsome integer ‘m’, every odd integer is of the form :

(a) m (b)) m+1 () 2m+1 (d m+3
ferdll quifsh ‘m’ % oG, 5o forom quifes 1 w9 g &
(2) m (B)). an1 (©) 2m+1 (d) m+3

036-MA 4



9. Iiintwo triangles ABC and PQR,
AB _ BC _ca
QR PR PO’ then
(a) APQR~
o APQR ACAB (b) APQR~AABC
QR~ACBA (d) APQR~ABAC
i< Brqsit ABC e QR AB _ BC _ CA 3
QR PR PQ
(a) APQR~ACAB (b) APQR~AABC
(€} APQR~ACBA (d) APQR~ABAC
10. If cos2a = %, then sin 2o is equal to:
L B d 1
5 = 0 CY
€ cos2a = % 2 A sin 20 TER &
: V3 4 1
(@ 35 b) - () 0 (d)
11. (sin 30°+cos 60°) — (sin 60° +cos 30°) is equal to :
(a) O (b) 1+ 23 @ 1-+3 @ 1+3
(sin 30°+cos 60°) ~ (sin 60° + cos 30°) T T
(a) O (b) 1+ 23 ) 1-+3 d 1+3
12. Theroots of the equation (¥ + 1)2—x2= 9is/are:
@a) 0.4 (b) 4 —4 (c) 4only d -4
Pesicau| (x+1)2—x2= 9F HAS :
(a) 04 (b) 4 —4 (c) a4 d -4

036-MA
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13.

14.

.« oiven below :
The graph of a polynomial p(x)1s given
ArY

14
X'«—— A i /:\-’*X
_}/3_&%-—11 2\})()()

¥y
The zeroes of p(x) are: 1
(@) —3,+2,0and3 (b) —3,—2/1an
() —3,-20and2 (d) 3,2 0and —2
STEUR p(x) T A 1=t oo T %

ArY

14
X'« ; 3/\ - /1\ %

PR N

Yy
p(x) F A :
(a) —3, +2,083iR3 (b) -3, -2,13R -1
() —3,-2,08R2 (d) 3,2,03R —2

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a cylinder
of radius 6 cm. The volume of the cylinder :

(a) increases ' (b) decreases

(c) remainssame (d) becomes double

ﬁm4.2ﬁ.mﬁ%%@mﬁﬁﬁwﬁwﬂﬁ.aﬁwam :
ST & | A SR ; . &+ T gren

(a) EIF.SETHT%I (b) q,—qgm%l
(o) T T9F TR | (d) YRGS e
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15.

16.

17.

18.

%ﬂ 7 7

The length of an ar .
this arc is - an arc of a circle with radius 12 cm is 10 7 cm. The central angle of

(a) 120° (b) 60° @ 75° @ 150°

Tllzzo?tﬁ I T 6 F TH =G H el 10 S T <o =T 1 FEA T
(b) 60° (c) 75° (d) 150°

The ratio of circumferences of two circles whose ratio of areas is 9 : 2> will be :

(a) 9:25 (b) 25:9 (c) 3:5 (d) 81:625

1 i, s St § 9.+ 25 o o &, w1 ARferd] ot ST B

(@) 9:25 (b) 25:9 (c) 3:5 (d) 81:62

How many tangents can a circle have from a point lying inside the circle ?

(@) O (b) 1 ) 2 (d) infinitely many

ot ¥ e feorm Toel fofg 1 ¥ et e Yt e @A 2

(a) O ®) 1 @ 2 (d) T4

In the given figure, AP and AQ are two tangents to a circle with centre O. If

/PAQ=52° then the measure of ZPOQis:

)ﬁ. A

(b) 90° (c) 52° (d) 128°

a) 38°
;:@ﬁrﬁ,%aoaréqﬁﬂﬁwﬁwrmmwm%l e LPAQ=52°F, d LPOQ
<! |19 B :
P
.’» A
5 ,
(a) 38° (b) 90° (c) 52° (d) 128°

036-MA



. :on (A) is followed b
Direction: In question numbers 19 and 20, a statement of Assertion (A) y
a statement of Reason (R). L
Choose the correct opt .

ption.
| for foreredi &
Frter - w1 19 93k 20 3 e arfrort (A) 3 A T - (R) T E
el fomea gfm)

19. Statement A (Assertion) : VX is an irrational number,

20.

where x is a prime number,

‘ i irrational number.,
Statement R (Reason): Square rootof a prime number is an Hrli‘;l?::he C;l;r ert
(@) Both Assertion (A) and Reason (R) are true and Reason ( ec

explanation of Assertion (A). is not the corfé
(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct

explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

ARFHLT(A) : Vx T IR TE T, el x Th AT G B

TH-HUT (R) : TF ST SN 1 el Teh ST HeH el §

(a) (A) 91 (R) SFT HYT T € T KT (R), e (A) i TEl AR HIT 51
(b) (A) T (R) S oA T § W RS (R), HeAT (A) 1 TEI AT T&l Xl B
() (A)HH T, W (R) I T ®|

(d) (A)THF T 3R (R) TA T

Statement A (Assertion):  The point (0, 3) lies on x-axis.
Statement R (Reason) : The x-coordinate of any point on y-axis is 0.

- (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

srfireRer (A) : 95 (0, 3), x-3181 W e Brar ¥

e BT (R) : y-3781 & Tohell foig &1 x-Frdemiop 0 B

(a) (A)aan(R)'m‘faﬁmw%ammm(R),WW(A)ﬁvéan@mm%l
(b) (A) TN (R) SF HerT T § 7201 her (R), o (A) % Wt sqren 7w 2
(©) (A) 9 §, 9 (R) ¥ =& 7 |

(d) (A) 39 § 3R (R) & &1
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21.

22,

) 23.

SECTION-B / G -@
Section - i
1on - B consists of 5 questions of 2 marks each.

The 9th term of .
‘ an.A,P, is zero. Prove that its 29tM term is double of its 19th term.

OR

Inan AP.ifa=-10,n=6and a,, =10, then find the common difference.
T TR 3 9 5 G = (0) | g e o e 29 1 G, 19 T R G
St

o T AR §, AR a= <10, n=6 d9 a_ =10, 3, T THEH Hrei-IFR I HrTC

Find the value of ‘K’ for which the following pair of linear equations have infinitely
many solutions : —2x+3y+5=0;4x+ky—10=0

'k’%ﬁmmﬁmmmﬁﬂaﬁww%ﬁmﬁﬁﬁwﬁ IF ARG B
—2x+3y+5=0;4x+kyf10=0

If o, B are zeroes of the polynomial 2x2 — 7x +5, then find the value of (a« + B + af).
OR

If one zero of a quadratic polynomial (kx2+2x +k) is 2, then find the value of 'K".
Ifg 9gIS 02— 7% +5 % T o SR B E, A (+ B+ o) FAF I FITTC

AT

qﬁ@ma@a(kx2+2x+k)wwwz%,aﬁ'k'mmmaﬁﬁm

9
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25.

26.

27.

_ ach other at point p.
{Dn the given figure, altitudes AD and CE of AABC intersect © s
Tove that AAEP~ACDP.

D

From a point Q, the length of the tangent to a circle is 12 cm and the distance of Q
from the centre O is 15 cm. Find the radius of the circle.

SR QW, 1 T 9w 5 5w 07 1590 0 Y, 9 T v i 12900 3
qaaﬁﬁmamaﬁﬁm

SECTION-C /@ -1
Section - C consists of 6 questions of 3 marks each.

TES-TTH 6 W § 3 Ueleh U9 3 aisk st ¥

Prove that &5__33 an irrational number, given that J7 isanirrational number.

fag FifT fF is—j@mﬁﬁaw?éﬁmw%%ﬁwmﬁﬁam%l

How many terms of the A.P.:9,17,25, ......... must be taken tq give a sum of 636 ?

- 10 o
036-MA
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28. Find the ratio in whj .
Also, find the value 1§fhnt1he point C(m, 6) divides the join of A(—4 3) and B(% g). 3

Find th » e
e value/s of ‘a’ for which the distance between the points P2, —3) and

QElO, a) ise)%g units.

A(-4,3) 3R B(2, 8) 1 e ot - e = i g Fosord
%,Eﬁamaﬂml'm'wnmﬁmﬁsfl by | '
y AT ' .

5 %éqﬁmm mmﬁgﬁpar —3) @ Q(10, a)%ﬁaaﬁialom%|

29. Prove that the parallelogram ci ibi ircle i 3
gram circumscribing a circleis a rhombus.
firg FIRC 6 foreht T % R i wigefs T 2§
30. A box contains 100 red balls, 200 yellow balls and 50 blue balls. A ballis drawnat 3
random from the box. Find the probability that it will be: ball
a

(A) ablueball (B) notayellowball (C) neither yellow nor blue
waaﬁlooamﬁa,zoouﬁa%ﬁaaﬂxsoaﬁaﬁz%maa@ma@mﬁwﬁm

3| wifermar 9 Fifs fF Feed T 7T .
A) Feficd  (B) MR (© = 4 et o A @ el AT
3

31. A cow is tied to a peg at one corner of a rectangular grass field of dimensions
b Ay of the field in which

20 m X 16 m by means of a rope of length 14 m. Find the area
the cow can graze. Also, find the area of remaining part.

OR -
Find the area of the shaded regionin the given figure, where ABCD is a square of
side 14 cm.

20 7. x 16 1. mﬁaﬁwwwém%wﬁ.maﬁ@a@m@
14q°r.ﬁa°rwﬁ@ra?uﬁmw%|ﬁm%w T T ST, STl T S =R Wl &, F

FfT == sy 51 S off T RIS
arere

SR i, STifeRd & T el 1 FRTE, ST ABCD ST 14 Jef 1 T =7 €
A . B

A A d

S

11
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S?chon - D consists o

Ee-Tdauprain

SECTION -D / @g-°

f 4 questions of 5 marks each.

32. P T W 5 37k <RI ¢ | ' i ttheéthe
2 Itsz ove thai.t if aline is drawn parallel to one side of a trl&lflgl‘.e tocin i;e:ﬁ:(;ame raﬁOI: ’
O sides in distinct points, then the other two sides are divi ’ea:ﬁ R a9 + &
TS U o % iR o7 o qenedi @ - g ;
T e Y N ot e | furfie o1 Sl €
T S, A 3 a1 Q) sy ek & S A o
33. fg train travels g distance of 90 km at a constant Spe?d' Had;h%iﬁg%ﬂgﬁarll .
km/hmore, it would have taken 30 minutes less for a journey: f'in
Speed of the train.
OR : imeters is 24 m
fSnlirc? t?f ar.edas of two squares is 468 m?. If the difference of their perimeter ’
1€ Sides of the two squares. '
T XTI TR <6 § 90 ki %1 g 79 e 1% 76 <1 15 ken/h 6 & 0
T 4 e | 30 e 5 wme orft | Yermet @ =il S I | -
: AT e A <
< S 3 AR o T 468 m? & | af 7 TR 7 SR 24 m @, A A e
@ ST | ' -
34. Prove that (cosecf — s; - = i .
(cosech — sin@)(sech cos0) tan + coto
OR
Prove that:
(SINA +cosecA)2+ (cosA +secA)2 =7 + tan?A + cot?A
g =ifsT -
(coéece — sinB)(sech — cosh) = 1
tan® + cotf
SE)
fag =it
(sinA + cosecA)? + (cosA +secA)? =7 + tan2A + cot2A
35. The median of the following data is 537.5. Find the values of x and Yy, if the total 5
frequency is 100.
Class 14 _100]100 - 200|200 - 300|300 - 400 {400 - 500|500 - 600|600 - 700 700 - 800|800 - 900|900 - 1000
Interval
Frequency| 2 5 x 12 17 20 y 9 7 4
2 fEw Tq e 1 AEAH 537.5 %1 x 3R i % WM W Fifvg, IS SRaTarst = 4w 100 ¥ |
il 0-100{100-200|200-300|300 -400|400 - 500|500 - 600|600 - 700|700 - 800|800 - 900/900 - 1000
et — |
- > 5 x 12 17 20 y 9 7 4
= 12 T ———— —
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Case Stud . Section - F /1g= _
AhIuT alsa)égaasﬂed F‘QlleStlo.ns - falbh

; ;" COMSists of 3

'gfv—:‘lﬁ 3T aiy qmeszon‘s 0‘51;1[ g:arks each,
€rs carry g : b

without som}é ki}?& Of importance In our live

s. No worship of God is complete
Flowers can bring s

. s. Flowers also come in use for making medicines.
mile on |
flower basket w

hich is hemigal.. oC: d upper
. . 11 1s hemispherjcal i i ius 60 cm and u
shape is conica] with heigh b rerical in shape with radi ’

120 cmy; is keptin Ishani’s drawing room.
{\

Based on the above information, answer the following questions : 1
i) Find the volume of the hemiS}})lherical part. 1
if) ~ Calculate the slant height of the conical part. 2

R . . tl‘l
iii) If the flower basket is ept inside the cy in.derlc_al lass jar as shown in the
figure (A), then find the capacity of the cylinderical jar.
OR

i i ical part.

S TR S g e o o P s R
Tl el § | et ST S o o ot T ¥ e Tt oft ek R ek o A
Tk Thedl sh SRl ST STETiieTeRR & et e 60 T ¥ @R St STt viseenr & ot
ST 120 I B, S o ST H W@ T ¢

ﬂ\

N a7 mﬂﬁﬂ&ﬂﬁﬂﬁﬁﬁ‘m |
) T I e 8
(iid) ﬁ i [Wﬁmmaﬁ{g‘{l




37.

avi aﬁOha].
A lighthouse is a tower with a bright light at the top and serves E;Sri:n or% the top
aid and also warns ships of dangerous areas. In the given flgu;?r rowards base.
of a 75 m high lighthouse is observing two ships approac ng

Observe the figure carefully and answer the following questions::

A M
1 0745°
75 m
V[) C B

() Find the distance of ship at B from the foot (D) of the Iighthouse. -
(i) Find the distance of ship at C from the foot (D) of the lighthouse.
(iii) Determine the distance between the two ships. A
OR" _
What would have been the distance between the two ships, if the ships were on
either side of the light house ? |

Emsﬁﬁmwwmm@w%sﬁ@%ﬁﬂwm%mﬁm
T § R wE 85 w1 S @ e o 31 §1 S T efa H, Tk Afh 75 1.
I AEeesd % e | 31 ST I STUR i SR A @ T

MR =l Y @Ry, F Jei & S ST

A M
0945°
75m
D C B

(i) T % U (D) ¥ e Bl Gl @ wifSw )
(ii) TIEESH % R (D) ¥ ST C i g I hifsTq |
(ii) < STETSH % s I gl I HI
3rerer
f 3 3 SIS AgEErSd o S S, A SIS % e H @ 9w g

14
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i\s/[;.aIﬁ)lyirranged alunch Party for some of
Y constant ang partly PTroportional to

anjor}t t0 X650 for 7 uests and ¥ 970 o, 11

\ o, »
e -~ \ ‘~_'»‘
- . 33 LAY b
P A [ of ¥ .
g » i i
f 3
L N R
o .
L X b W
S A Nl
.
-
< % ¢

is friends. The expenses of the lunch |
the number of guests. The expenses :
guests,

Denoting the constant expense b
following questions -
(1) R.epresent both the situations algebraically.
) (ii) Find the cost of constant expenses of
Find the proportional expenses for each guest. | )
(iii) If there were 15 guests at the lunch party, then what amount did Mr. Roy
pay ?

y xand Proporﬁonal éxpénse by y; answer the

the party‘.: .

. 31 319 7 Sl 35 For o it et oy oo fopen | o e o e SR

QW@TW@WW@WﬁW%WﬁW%I 7 WeHH! s @ % 650 3R 11
HeAH 1 @d T 970 T ) oty '

T ] Bl x 9 SR ARl il TE < ST W bl y & Forefire o g, ot e 36 SR
i
(i) < Tl 1 st w9 # e wifs )
(i) W < feer T % 9 S
3teraT
Tereh HeHM o STUIIE T I shiferg |
(ifi) afE o= a1 # 15 Henr B, @ . T 1 feorat aft 0 2t 2

-000-

p

1

T
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